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図4.5　解析結果 (自由水面図，非定常解析)
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図4.5　解析結果 (自由水面図，非定常解析)









































































































































- 2-3-14 -

[image: image3.wmf](

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 0.00)

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 0.00)

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

2

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 0.00)

[image: image4.wmf](

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 2.90)

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 2.90)

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

0

2

4

6

8

1

0

Z

0

2

4

6

8

1

0

X

0

2

4

6

8

1

0

Y

X

Y

Z

(

3

D

)

½

0

3

D

e

c

1

9

9

9

½

T

I

M

E

=

.

0

0

0

0

0

0

0

E

+

0

0

-

-

-

-

D

E

M

O

D

A

T

A

0

1

-

-

-

-

(Time : 2.90)

